
 

A. Choose the correct Answer; 

1. Which of the following is a personal 
pronoun? 

(a) her  (b) it 

(c) this  (d) whose 

2. Which pronoun is reflexive? 

(a) her  (b) their 

(c) herself (d) she 

3. What type of pronoun is “each” in 
“Each of them spoke well”? 

(a) Possessive  (b) Indefinite 

(c) Demonstrative (d) Distributive 

4. Identify the interrogative pronoun: 

(a) who  (b) whom 

(c) their (d) that

B. Match the Following; 

Match the pronouns in Column A with their types in Column B.  

Column A Column B 

a) mine i) Demonstrative Pronoun 

b) those ii) Possessive Pronoun 

c) herself iii) Reflexive Pronoun 

d) which iv) Relative Pronoun 

C. Fill in the Blanks; 

1. This umbrella belongs to Reena. It is __________. (possessive pronoun) 

2. My brother and I finished the project __________. (reflexive pronoun) 

3. __________ of the boys is late. (distributive pronoun) 

4. __________ do you want to talk to? (interrogative pronoun) 

D. Short Answer Questions; 

1. Define reflexive pronoun with an example. 

2. Identify and correct the error in this sentence: “They enjoyed themselves at the 

party.” 

Pronouns 



 

(Is the reflexive pronoun used correctly?) 

E. Long Answer Questions; 

1. Rewrite the paragraph replacing nouns with appropriate personal pronouns:  

Ravi and Meena went to the market. Ravi and Meena bought vegetables. Ravi and 

Meena returned home late. 

2. Join the sentences using a relative pronoun:  

a) This is the man. He won the medal. 

b) She is the girl. Her voice is melodious. 

c) I have a pen. The pen writes well. 

d) That is the teacher. We respect him. 

e) This is the student. He topped the exam.

 


